Zahle in Schritten mit Hilfe der Stellentafel (zahlenraum bis eine Million)

MI|HT 2ZT T | H Z E M|HT ZT T | H | Z E
7 0 0 0 \2 1 6 0 0 0
8 0 0 0 \) 1 7 0 0 0
| desmmer +1'000 | | desmer
M|HT 2T | T | H | Z E M|HT ZT T | H Z E
1 4 8 0 0 0 6 3 0 0 0
1 4 9 0 0 0 7 3 0 0 0
f Wie gross sind ) f Wie gross sind
L die Schritte? ) L die Schritte?
MI|HT 2ZT T | H Z E M|HT ZT T | H | Z E
2 4 0 0 0 0 4 6 5 0 0
3 4 0 0 0 0 4 6 6 0 0
f Wie gross sind | f Wie gross sind
L die Schritte? J L die Schritte?
M|HT 2T | T | H | Z E M|HT ZT T | H Z E
4 5 0 0 3 6 0 5 0
5 0 0 0 3 6 1 0 0
5 5 0 0 3 6 1 5 0
f Wie gross sind ) f Wie gross sind
L die Schritte? ) L die Schritte?




